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Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8 = 50, will be treated as malpractice.
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l hlrd Semester MBA Degree Exammatlon, Jan./Feb. 2023
Advanced Financial anagement
Time: 3 hrs. Max. Marks:iOO
Note: 1. Answer any FOUR f /l questions from QNo.J to Q No.7.
2. Question No. 8 Is' com ulsory
1 a. What is the Annual P-interest.cost associated with following credit terms : :
1) 1/10 net 30 ) 3/10 net 45. k (03 Marks)
b. What is EOQ? What are ifs.assumptions? o (07 Marks)
¢. What do you mean by Working Capital? Brreﬂy explam the different sources of Fi ‘inancing
working capital. - L F ¢ (10 V[arks)
2 a. Which are the co s involved in Credit M@g ement? (03 Marks)
b. XYZ Company has currently an ordmaryzyshare capital of Rs 25 lakh, consisting of 25,000
shares of R$#100 each. The managemerit is planning to raise another Rs 20 lakhs to finance a
major programme of expansron throygh one of 3 possrbleﬁ financing plans. The optlons are
as under.
1) Entirely through ordmary shares
&
10 Marks)
3 a Whatis Workmg Capital Leverage »How it is calculz ed? (03 Marks)
b. Discussithe factors influencing oft dividend policy: (07 Marks)
o) From\t he.following data, deterr;mne the value of firms P & Q under :. :
i) NetIncome (NI) approach #
ii) Net Operating Income (NOI) approac_ e
Particulars Inlevered firm ‘Q’
W_ELBE' Rs 2,25,000
| Interest @ 15% -
“h Ke 20%
Corporate tax rate' ) 50% 50% .
(10 Marks)
4 a. Listout 5C’s of Credit Policy. (03 Marks)
b. Consider the data for Arun & Co.

| Current Assets | Amt. | Current Liabilities | Amt.
Inventory 70 | Trade Creditors 40 J
| Debtors 60 | Provisions 20 ;
Cash 15 ;
| 145 60

1of3



20MBAFM306

]

] (03 Marks)
in an average daily receipts of

7 a. What are the assumptions of NI approach? ,
b. A firm uses a continuous billing system that restit
Rs 40 lakhs. It is contemplating the institution 6 f Goncentration banking instead of the
current system of centralized billing and collection. It is estimated that such a system will
reduce the collection period of account receivable by 2 days. Concentration banking would
cost Rs 75,000 annually and 8% can be ‘earned by the firm on itssinvestments. It is: also
found that a lock — box system could reduce overall collection time: byfl days and could cost
annually Rs 1,20,000. i
1) How much cash would be released ‘with the concentration banking system?
11) How much money can be sav ;due to reduction in the collectlon period by 2 days?
Should be firm institute cot ration banking system?
iii) How much cash would'be freed by lock — box system? *
iv) Between concentration bankmg and lock — box, system which is better? (07 Marks)
c. ABC Ltd. Produces a- product which has a mon ly demand of 4000 units. The product
requires a component X’ purchased @ Rs 20.'For every finished product, one unit of
component is required. The ordering cost is Rs 120 per order and the holding cost is,10%
per annum. Y ou.are required to calculate
) EOQ. . :
1) If themimimum lot size to be supphed 1S 4000 units, what is the extra cost, the company
has to incur?
1ii) W’hat i§ the minimum carrying cost the company has“% incur? 10 M?rks)
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8 CASE STUDY (Compulsory) : .

Other data 1s as follows :

a. Debtors and creditors ba”lélnces @ the begmnmg ot the year are Rs 30,000 and Rs 14 ,000
’respectwely The balances of other relevarit: a§sets and liabilities are

50@00:‘ r.

t

Cash balance  ~ 7,500
Stock % - 51,000
Accrueg sales commission | 3,500
b. 40% salesare on cash basis credit sales are collected in the month following the sale.
c. Costof'salesis 60% of sales. :
d. The only other variable cost is a 5% commission to a sales agents. Sales commission isi paid
in the month after it is €arned. i.e. time lag 1 month.
e. Inventory is kept equal to sales requirements for the next two months budgeted sales.
f. Trade creditors are paid in the month following purchases.
g. Fixed costs Rs 507 ,000/pm, including Rs 2,000 depreciation.
You are reqmred to prepare cash budget for the first 3 months. (20 Marks)

L

30f3



